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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes !
| each sentence. Then mark the correct choice on your answer sheet.

1-  Ancient alchemists believed that it was possible to .......... lead into gold.
1) mingle 2) direct - 3) ransfer 4) transmute
2-  Dan always beats me at chess because he develops such an ......... game plan that I can
never predict his next move. _
1) eventual 2) ambiguous 3) elaborate - 4) objective
3-  His election as President represented the .............. of his career.
1) summit 2) motivation . 3) triangle 4) periphery
4-  She found the job frustrating, and felt she wasn’t ......... anything there.
1) flourishing 2) accomplishing 3) evolving 4) satisfying
5-  Britain’s ......... over its colonies was threatened once nationalist sentiment began to
spread around the world. ‘
1) hegemony 2) preference 3} compromise 4) independence
6- He.iveornnn all of his success to his mother’s undying encouragement.
1) interprets 2) converts . 3) attributes 4) results
7-  Youcan.......... the flavor of most dishes with the careful use of herbs.
1) initiate 2) impress 3) precede 4) enhance
8-  The pirate Blackbeard had a reputation for being a harsh, .......... man.
1) reliable 2) ruthless _ 3) perpetual 4) prevalent
9-  Being a direct relative of the deceased, her claim to the estate was ............
1) prominent 2) profound 3) legitimate 4) reckless
10- There are more than thirty species of rattlesnakes, varying in length from 20 inches fo six
feet and also varying in........... of venom.
1) domination 2) detection 3) conquest 4) toxicity

[ PART B: Cloze Test

Football is (11) ....... ball game in the world and the most popular as a spectator sport.
The simplicity of the rules and the fact that it can be played practically everywhere
(12) .ceveen to this popularity. It is played on all continents and in more thanm 200
countries. At the 2000 census (13) ........ by the world governing body, the Federation
Internationale de Football Association (FIFA), (14) ........ some 30 million registered
players at all levels. In addition, there are (15} ....... casual players involved in pickup
games in streets, on parking lots, on school playgrounds, in parks, and even, as in Brazil,
on beaches.

11~ 1) played the most widely _ 2) the most widely played
3) played most widely 4) the widely most played

12~ 1) has contributed 2) will be contributing
3} had contributed - 4) will have contributed

13- 1)to be taken 2) was taken 3) that taken 4} taken

14- 1) which were 2) there were - 3) they were 4) were

15- 1) many millions 2) many of millions )

3) many millions of ' 4) many million
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PART C: Reading Comprehension

Directions: Read the féllowing three passages and choose the best choice (1), (2), (3),
or (4). Then mark it on your answer sheet.

PASSAEG 1:

Like any business, the mass media is conscious of its market. Most couniries have a
“popular press” and a “quality press™ aimed at different types of people. “Popular” riewspapers,
which are normally produced in a small format known as tabloid, carry a large number of
illustrations, use simple language, and are keen to print sensationalist news in large headlines.
“Quality” newspapers, which are normally larger in format, at a size known as broadsheet,
have fewer illustrations, use more complex language, and are setious and sober in their choice
of news and headlines. Much of a newspaper’s income comes from advertising revenue, and
the advertisers take account of the kind of people who read a paper before placing an
advertisement in it

Some newspapers pride themselves on their independent stance on the issues of the day;
others are politically committed one way or-the other Much radio and television production is-
controlled by private companies. Programes produced by commercial companies rely upon
revenue from advertisements for their existence. In Britain the amount and frequency of
television advertising is currently controlled by the Independent Broadcasting Authority. Such
controls are not present in many other countries. Radio and television companies are n
competition for listeners and viewers. With this in mind, programes are scheduled in such a
way as 1o maximize the audience. Soap operas or quizzes may be scheduled to appear at peak
viewing times, while programes which will appeal only to a minority of viewers may well
appear late at night or at other non-peak times.

Control of the mass media is in the hands of a small number of people, and the temptation to
use bias or propaganda, or to use bias or propaganda is always present. It is to be hoped that
what government controls exist will discourage them. At best the mass media have a great
potential to make the world a better place.

The passage mainly discusses —----v-mw-- .

1) different types of newspapers '

2) how the mass media controls its market

3) issues of production and control in the mass media

4} the role of private companies in the mass media

According to the passage, radio and television programs ------———,

1} are the main sources of revenue for commercial companies

2) compete with each other so as to be broadcast at peak times

3) that attract a wider audience are less likely to depend on the private sector funds
4} are mostly produced and controlled by non-governmental organizations

It can be inferred from the passage that the mass media --—----—--,

1} decides which people it wishes to appeal to

2) has already made the world a better place

3) is more concerned with the amount of production than with attracting the audience
4) has successfully controlied the amount and frequency of advertising

The word “them” in line 22 refers to ~~-—--uu—, i
1) controls 2) media 3) programs ~ 4)people
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With which of the following statements does the author least probably agree?

1) The mass media soon can work out a viable solution to the problem of censorship.
2) It is the responsibility of those who control the mass media to discourage biasedness.
3) It is not a good idea that a small number of people are in charge of the mass media.

-4) Television show times must be scheduled according to the popularity of the programs,

PASSAGE 2:

Users of document retrieval, reference retrieval, data base, and text processing systems rhake
a wide variety of requests for information. These requests differ in complexity, in accuracy of
description of what is wanted, in area of subject interest, and in the form of information
desired, such as full copy, abstract, list of book titles, or a single item. For example some
requests require a search of the file to retrieve a specific item, such the rainfall in Cleveland,
Ohio, on a given date. Some requests call for a list of books or articles on a particular topic.
Other requests call for a relationship among data, such as a statistical analysis of the population
of a certain city. Another kind of request, called a standing request, is used for selective
dissemination of information (SDI). In this case, a requester provides data on his areas of
interest. The data, called a requester proﬁle then are encoded on an input medium for later
matching with stored records.

Regardless of the kind of request, it must be expressed as a set of terms, or symbols, that can
be matched against the terms, or symbols, that appear in the stored records.

Which of the following is NOT discussed in the passage?

1} Kinds of requests for information

2) Users of various information systems

3) How users must put in a request for information

4) Distinctions between request types

According to the passage, requests for information ---------- .

1) may vary from user to user

2) are classified according to what they want

3) describe their desired information in equally accurate ways

4) seek general information about different issues :

The word “dissemination” in line 9 is closest in meaning t0 —-e--oeeee- .

1) categorization 2} distribution 3) sequencing 4) gathering
It is siated in the passage that SDI --—-— —

1) is the name of a special kind of input medium

2) helps users construct their own requester profiles

3) assists a requester in matching the data on his areas of interest with stored records
4) is a form of information that helps the requester encode the data

Which of the following statements can be inferred from the passage?

1) Requests never require that statistical procedures be used to analyze the data.
2) Requests for information must be expressed in complicated terms.

3) The forms of information desired vary only in quality not quantity.

4) All requests for information are made in symbols.
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PASSAGE 3:

Development of data base systems can best be described in terms of ihe corresponding
development of computer hardware and software. ‘

In the early 1950%s, the first commercially available computers used punched cards for -
storing large amounts of data outside the computer and small magnetic drums for storing
relatively small amounts of data and instructions inside the computer. Because of the smalt
internal storage capacity, information retrieval was very slow. Even in 1955, when magnetic
tape was commonly used for storing master record files on it, information retrieval was limited
to reporting exceptional situations requiring special attention. Thereafter, direct-access storage
media such as large-capacity magnetic drums and magnetic disks, provided greater storage
capacity and faster access time, As a result , the mechanical capability to retrieve information
from large files was well established by 1960; in fact, most large-scale data processing systems
included programs for information retrieval from data stored and filed on one of these
magnetic media. From 1960 on, standardized programs for business management information

provided a combined capability for maintaining, searching, and reporting form a data base
master file. '

What is the author’s primary purpose in this passage?

1) To describe the development of data base systems in the 20th century .

2) To explain how computers have been used to store and retrieve information

3) To compare the development of data base systems with that of computer hardware and
software -

4) To give the reader the background to the development of data base systems

It can be inferred from the passage that by the middle of the 20th CeNtury —------—-,

1} lacked any internal instructions .

2) computers have limited internal storage capacity

3) information retrieval from data stored was almost impossible

4) master record files were stored on magnetic tape

The expression “these magnetic media” in lines 12-13 refers 0 ~ev-n-mmee-- .

1)data 2) files 3) systems 4) programs

According to the passage, the mechanical capability to retrieve information from large

 files ~e-ueeneeee .

1) was established in order to provide greater storage capacity

2} resulted in the development of magnetic drums and disks

3) became a possibility after the introduction of direct-access storage mediums

4) is the outcome of the first stage of the development of data base systems

The passage states that since 1960 -——e—---,

1) programs for information retrieval have become standardized

2) information retrieval from data base master files has transformed business management

3) mainfaining, searching, and reporting business management information has become a
possibility

4) programs for business management have contributed to information retrieval form data base
systems
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void BST-Find-Range (BSTNode* b, int i , int j )
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if (b = = Null) return;
int v =h-> key;
if (v <i) BST-Find-Range(A , i, j);
if (v > j ) BST-Find-Range (B, i, j);
else )
{
cont <<v;
BST-Find-Range (C,i,j);
BST-Find-Range (D,i,j);
}
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Net 1
MTU = 580 Bytes

Net 2
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Total Length Identifier MF DF Fragment offset
| Original Packet 800 1000 0 0 [
A
Al .
Total Length Identifier MF DF Fragment offsct
Fragment 1 580 1000 1 0 0
Fragment 2 240 FG00 0 [4) 70
BB : .
Total Length Identifier MF DF Fragment offset
Fragment 1 800 1000 0 1] 0
Fragment 2 - . - - - - d
41
&R
Total Length Identifier MF DF Fragment offset
Fragment 1 580 1000 1 0 0
Fragment 2 240 ‘16060 0 0 70
it - B:
: Total Length Edentifier MF DF Fragment offset
Fragment I 580 1000 ] 0 0
Fragment 2 240 1000 [ G 70
43
A-=R:
. ‘Total Length Tdentifier MF DF Fragment offset
__Fragment [ 580 1000 1 0 1]
Fragment 2 240 1000 0 4] 560
R - B:
. Total Length Tdentifier MF DF Fragment offset
Fragment 1 580 1000 1 [ 0
Fragment 2 240 1000 [ 0 560
(f
A - K1
Total Length Identifier MF DF Fragment offsct
Fragment I 580 1000 1 0 0
Fragment 2 240 1000 [1] 0 560
R+ B:

Total Length Identifier MF DF Fragment offset
Fragment 1 200 1000 [1] 0 1)
Fragment 2 - - - -
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Brapch-schema = (branch-name, branch-city, assets)
Customer-schema = (customer-name, customer-street, customer-city)
Loan-schema = (loan-number, branch-name, amount)
Borrower-schema = (customer-name, loan-number)
Account-schema = (account-number, branch-name, balance)
Depositor-schema = (customer-name, account-number)

sl gy ez 513 SQL asiyl gy iyl ol Brooklyn wouds das jo 45 il jido don a6" G929 Gy glp
fosiue 53 SOL us ;0 YY s XX (gla puise &yt Conyd gladly 35 SQL 5ls \8lee 31 CSolas il s 7o Jlgw

select distinct S.customer-name
from depositoras S
(select branch-name where XX (
from branch
where branch-city=’Brooklyn’)
YY
(select R.branch-name
from depositoras T, accountas R
where T.account-number= R.account-number and
S.customer-name = T.customer-name)

)

XX=unigue, Y Y=union (A
XX=exists, Y Y=except (¥
XX=not exists, Y Y=except ('

XX=not unique, YY=union (f
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pthread_mutex lock(&lock2);
&lockd);

i;thread mutex unloglﬁ&locktil;

=== Thread A =—= Fig A
pthread mutex locﬁ&locklj;

pthread_mutex loc

pthread mutex unlock({&lock2);
pthread_mutex_unlock(&lockl);

=== Thread
pihread mutex_lock({&lock2);
pthread _mutex lock(&lock3);
pthread”_mutex lock(&lock1);

i;'thread__mutex_unlock &lockl);
pthread mutex_unlock(&lock3);
pthread_mutex unlock(&lock2);

=== Thread C === ‘
pthread_mutex_lock(&lock3);
pthread mutex_lock(&lock2);
pthread_mutex_lock(&lockd);

i;thread__mutex unlock(&lockd);
pthread_mutex unlock(&lock2);
pthread_mutex_unlock(&lock3);

Fig A

pthread_mutex lock(&lockd);
pthread mutex lock(&lock2);

i;.thread_mutex unlock(&lock4);
pthread_mutex_unlock(&lock2);
pthread”_mutex_unlock({&lockl

==Thread A == Fig B
pthread mutex Iockt&lockli;

=== Thread B ===
pthread_mutex_lock(&lockl); .
pthread_mutex_lock
pthread mutex lock(&lock3

i;'thread_mutex_unlock &lockl);
pthread”mutex_unlock(&lock3);
pthread mutex unlock

== Thread C ===
pthread_mutex lock(&lock2);
pthread”_mutex_lock(&lock3
pthread_mutex_lock(&lockd

i;thread__mutexmunlock &lock4);
pthread mutex_unlock(&lock2
pthread _mutex unlock{&lock3

Fig B

.
2

&lock?

3
.
k]

&lock2);

.
k]
.
b

3
3

pthread_mutex lock(&lock2);
pthread_mutex_lock(&lockd);

'[.).thread mutex lmloc::g&lodm};

===Thread A == Fig C
pthread mutex loc!l%&lockli;

pthread_mutex”unlock(&lock2

pthread mutex unlock(&lockl):

3
=== Thread B ===
pthread mutex_lock{&lockli;

pthread_mutex lock{&lock2
pthread_mutex lock(&lock3

pthread_mutex unlo&l%&lock?:};

.
3
.
b
.

pthread mutex unlock(&lock?2
pthread "mutex unlock(&lockl

=== Thread '
pthread mutex locg&locki’,i;

2
-
2

pthread mutex lock{&lock2);
pthread " mutex_lock(&lock4); -

i;'thread mutex unloil;;&lockf#ri;

bl
"
2

pthread _mutex unlock(&lock2

pthread mutex unlock(&lock3

Fig C

== Thread A === Fig'D
pthread_mutex lock(&lockl);
pthread_mutex_unlock{&loc 4);
pthread mutex lock(& ock21é2
pthread_mutex unlock{&loc )
pthread mutex lock{& ocl{4}é
pthread "mutex unlock(&lockl);

== Thread B ===

pthread mutex_lock(&locklk
pthread mutex unlock{&loc 1);
pthread_mutex_lock(&lock3);
pthread_mutex unlock{&loc ;
pthread mutex lock(& ocld{2
pthread mutex_unlock(&loc

== Thread C ==
pthread_mutex__lock(&lock?yk
pthread_mutex unlockf&loc 4);
pthread_mutex_lock(& ockZiéz
pthread _mutex unlock{&loc )
pthread_mutex lock(& ockfl};8
pthread_mutex_unlock(&lock3);

Fig D

%
2);
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Proc(i);
Int(i);
{while(true)
" {computation;

Keyl[i]=true;

While(key[i])swap(keyji},lock);
CS

Lock=false

3
}

Lock=false;
Key[1]= false;
Key[2]= false;

e oof ute, (Mutual exclusion) Jilite lassl 1,5 s puoes (o ol (A
Sod 351 S8 yhey b0 5 S e Jo oy (F
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CPU | CPU | CPU 8| CPU 9
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10 510 22 10 2
CPU | CPU CPU 1
2 2

TR =18.75, CPU UTIL=95.5%, IO _UTIL=82.5% (\
TR=20.75, CPU_UTIL=95.5%, IO UTIL=72.5% (v
TR =18.75, CPU_UTIL=92.5%, IO_UTIL~=82.5%

TR=20.75, CPU UTIL=92.5%, IO UTIL=72.5% (¢
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